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HE: ALHFLY
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oOrM A A 18,287,872 21,368,404 N 3,080,532
= 709,727
Xl 5,575,200
& 734,446
= 11,268,499
AEHHE2H 1,392,041 1,322,880 69, 161
ALt AHMLHY X & 27,000 31,431 N4, 431
2SS Ma 222H 2,000 2,000 0
201 et 2,000 2,000 0
01 AP 2t 2] H| 2,000 2,000 0
OZRWURY D8 =g U 84X 442
200,000& = 102 X 2,000
=2 0|dED| 25,000 23,000 2,000
201 gEt24Ay| 3,000 3,000 0
01 AP 22| d| 3,000 3,000 0
ONiol2sz 238 € S8
600,000& = 50 A 3,000
202 o4 | 2,000 0 2,000
01 2Ll 2,000 0 2,000
OMOIS=2 2IddiZ ol
20,000 * 291 % 50 2,000
401 AlEHIZL £ 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
O[EXI0HHI] 20,000
OllS=2 2I3dlZ EX0H I
4,000,000 * 5004 20,000
= &8 d3 3| 1,363,041 1,289,449 73,592
lzs 22l 1,363,041 1,289,449 73,592
201 2Et24Hy| 1,044,881 1,021,649 23,232
02 22244l 1,044,881 1,021,649 23,232
Ol2222 % MA] 1,044,881
O08Y JI2s dMIIe2
14,220& = 2,1008 * 1201 & 358,344
O08Y Bos dMII2
2,5709 « 7,600 * 1200 € 234,384
OJIZ(EtES)wH UK Hazsz
37,679,400& « 1204 & 452,153
202 044l 2,000 2,000 0
01 2L Y| 2,000 2,000 0
OJtgs g2 &80
20,000 = 2021 x 50¢ 2,000
401 Al HI L £ 0HHI 316, 160 265,800 50,360
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01 Al&HI 314,000 264,000 50,000
OF %X JH2E 4R 1,000,000 * 1505 150,000
OHos 228U i 70,0002 * 2005 14,000
ONRE |SXELAY 150,0002 * 1,000S 150,000
03 Al& 2 H 2,160 1,800 360
OF2X IH2E &X 22U
150,000,0002 * 0.72% 1,080
OJRE |XE2 8 20yl
150,000,0002 * 0.72% 1,080
S L SAYN 29 2,000 2,000 0
S L =AYH 22 2,000 2,000 0
201 L2 1,000 1,000 0
01 AFR 22l H 1,000 1,000 0
OaYN L QR 2ISE 7Y
200,000 * 5% 1,000
202 04l 1,000 1,000 0
01 2ol 1,000 1,000 0
Ox=4dHNd ¥ a2 RFE WY
20,0002 * 101 * 50 1,000
C2A&ze 2,991,321 5,460,751 A2,469,430
CE28Xe 1,112,784 877,460 235,324
CREX 2L 48,348 28,480 19,868
201 LBt 42,348 25,030 17,318
02 B2 9H| 42,348 25,030 17,318
O[A & &Y X ] 15,914
OS2HEHIZ 2AHI, 0XI, 22 RRH
1,502.732 = 5,0004 7,514
OS2HEHIZ 2AHI, XD, 22 #2lH|
1,250,000 * 63l 7,500
OWEXSHE HSI| S|
900,000€! * 14l 900
O[Xtg Hdetl] 26,434
OE2E+2 I SANH(EZEH)
700,0002 * 122 8,400
OE2EL2 I SEU(EZE™)
1,322.798 = 7,0004 9,260
OE2HA U SXNH(=HHAX)
180,000 * 12% 2,160
OE2HA X SBU(=HIEAR)
1,322.792 = 5,0004 6,614
206 T2 Hl 6,000 3,450 2,550
01 Mt 6,000 3,450 2,550
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OE2HAX LHEE24 S HAZEH Y
1,000,000& * 58 5,000
OzzFHlE MM P (4, 280,8,R)
1,000,000 * 14 1,000
& off CH 2 93,642 29,530
201 £B-2d| 36,892 3,080
01 At 22l 15,400 5,780
Olger=2tl] 1,000
Ox=2& GHHAIZEH +&
62,5003 = 2& = 8¢ 1,000
O[Tl =8l] 2,400
O+=2% 1=l 200,000& =« 12¢l 2,400
O xtbl] 12,000
OMA&E XtgF Xyl
4,000,000& = 104 » 33 12,000
02 2324l 21,492 22,700
O[B=22LHA] 21,492
O=x==dUJla MIIR3  300,000& * 128 3,600
O0EoIEs+4d CCTV dMIIe=
12,000 » 68 A& « 12& 9,792
Ot TNATZ H-EHIZAE HMIRS
600,000 * 123 7,200
Ox=2&UIIA AHY AIEZ
25,0008 * 123 300
Ox==23UIx =ER3 20,000& = 123 240
Ox==2&UJIA CCTVRI A AtE =
30,000& = 123 360
206 M= Hl 56,750 26,450
01 =8l 56,750 26,450
OM&EXHE Satzs #
467,500 » 100 46,750
OM&dE 2 ¢ 20,000& = 500m’ 10,000
TS Z2FH| 970,794 185,926
206 M= Hl 38,960 11,680
01 =8l 38,960 11,680
OkL2 2ME+8 022 ¢
105,600& *» 300& 31,680
Otz 2lE+8 S5t ¢
30,0003 = 200%& CH 6,000
O AE+8 OIAZE P
160,000& » 3= 480
OU=YXE M4 HE(8 ) ¢
80,000& * 103 800
401 Al HI 2 28I 931,834 174,246
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01 A& HI 926,000 755,500 170,500
O[AI&HI] 926,000
OL=zZgsa HAE FH|
1,200,000 = 100H & 12,000
OXcitEe & E2HMEX S FH|
300,000& * 1009H £ 30,000
OWsegXE EH 2 &X
1,000,000 * 1000 £ 10,000
O%=2 AItE=+ HIIZ2XZ
50,000& * 270& 13,500
OFZ A2AWtE=+ ALY 450,000& = 150a 67,500
O=ZE Wg 2t B
2,500,000& * 1004 & 25,000
Os0HErs g 2t B
2,500,000& * 1004 2 25,000
OE2H¥ =EIFHI(1MEH)
9,000,000& » 115H 99,000
O=Z% Xd &M 15,000,000& * 3km 45,000
OsUHEZZ Xt &4 15000,000& * 3km 45,000
0=z ¥ sHEEZZ KAl
2,000,000& * 100km 200,000
OE=2E+¥ MRPA HIJEAE EX3A
15,000,000& * 14 15,000
0z ¥ sHEEZ ued B
70,000,000& = 14 70,000

150,000,000& * 14 150,000
OF =& 25 A HUHMAC B2
E R 97,000,000& * 14 97,000
OLZ2FH XNEHI=S MelEF
22,000,000& = 14l 22,000
03 A2 2 THHI 5,834 2,088 3,746
OAlZ Rl 5,834
OE==2dHl A4 20l
926,000,000& * 0.63% 5,834
ANSA ws2el Ko 483,456 916,160 N432,704
FAEEZ2ME ALY 302,160 302,160 0
401 AIEHIZ 2 I 302,160 302,160 0
01 A& HI 300,000 300,000 0
OFEAMZ ASBEZ ALY
300,000,000& = 14 300,000
03 A2 2 THHI 2,160 2,160 0
OS2 ALY S0
300,000,000& = 0.72% 2,160
Oelol 2579 e A 181,296 614,000 N432,704
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T AEHZXEUY 181,296 614,000 N432,704
01 A& HI 180,000 610, 131 A 430,131
ONEolEs7Y HEX A
10,000,000& * 18JH £ 180,000
03 AIE 2 0HHI 1,296 3,869 N2,573
Oelol2s3Y LHEX MM 20|
180,000,000& * 0.72% 1,296
SHEEZ S22 &= 1,395,081 3,667,131 A2,272,050
A KE-40H2t sSHEEZZ S ZEHIA 1,092,921 0 1,092,921
401 AIEBIZ 28I 1,092,921 0 1,092,921
01 A& Hl 1,089,000 0 1,089,000
OZ M XNE-AlDta2t sSHEEZZ SEZEIA
1,089,000,000& * 14 1,089,000
03 Al 20 HI 3,921 0 3,921
ORN X-M0tA2 SHECE HTIHTDA
A& 20| 1,089,000,000& =* 0.36% 3,921
Stit HB0E SHEZZ ST ZA 302,160 0 302, 160
401 A& BIZ 201 8I 302,160 0 302,160
01 A& HI 300,000 0 300,000
Osigt A0S sHEEZ SHELYZA
300,000,000& * 14 300,000
03 Al =2 THHI 2,160 0 2,160
O HEOtSE sHEESZ SZHIAL 20|
300,000,000& * 0.72% 2,160
sge3WE 23 9,987,588 8,413,897 1,573,691
= 698,000
X 4,775,200
< 686, 150
[ia 3,828,238
JIBtAIE RRE =+ 66,000 66,000 0
JIBHAIE ZHIX ALY 33,000 33,000 0
201 L2l 33,000 33,000 0
01 At 22l 33,000 33,000 0
oldxz] 33,000
O=sZE= ZH Xl
300,000& » 118 » 10¢ 33,000
th== &4l &HIX2 33,000 33,000 0
201 et 33,000 33,000 0
01 At 22l 33,000 33,000 0
olgxz 33,000
Oti==2&Hl FHIX=
300,000& » 118©& » 10& 33,000
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0
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e
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Mo A

450,000
360,000
45,000
45,000

561,

000

A 111,000

4

01 AlEHI 20U HI

Mo =

450,000
360,000
45,000
45,000

561,

000

A 111,000

01 A& dl
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e
e
~
E
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450,000,000 = 14!

Mo A

450,000

450,000
360,000
45,000
45,000

561,
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3,901,500
3,361,200
420,150
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000

98,500

4

01 AlEHI 20U HI

A

3,901,500
3,361,200
420,150
120,150

4,000,

000

98,500

01 Al&HI
OS0tRcl EoletEb A

3,647,648,000& * 14

02 2feldl
OS0tRcl It A Zeltl
243,195,000& * 14

Mo =

HHA

3,647,648

3,647,648

3,157,569
394,696
95,383
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243,195
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24,319
24,320
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A 101,552
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311,000

249,000
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352,

300

A 41,300
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311,000

249,000
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401 AIEHIZ 2 I
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311,000
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300

A 41,300
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2AE AIE 20
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247,209
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448

349,

763
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102,000

,008,340
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JIAHSBEZ SEEFAY
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798,000
102,000
240,000
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H A

. 140,000

798,000
102,000
240,000

,000

225,000

01 A€ HI

03 Al S THHI

OJlH=EaHZ SELIAY

1,135,896,000& » 14!

OJlH =z &2 SXZHFAY 204

t
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A
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@ =X JIgtxd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
28 sIIBEHAY 805,040 613,780 191,260
401 Al HI K 201 I 805,040 613,780 191,260
01 A& Bl 800,000 610,000 190,000
O[AI&HI] 800,000
Ody &d4el ZNEEAXNF sZTEESA
100,000& * 250m 25,000
OgY HAHDNSE == L =2 FEISA
100,000& * 100m 10,000
OYY WIS o2 FHDA
100,000& * 100m 10,000
O el == FHISA
172,000& = 250m 43,000
O&s Y20t gz | S A
100,000& = 100m 10,000
Ofs RUENS+=Z2 EXSAM
100,000& = 150m 15,000
Ods EYe sZHHEIIIAM
100,000& = 330m 33,000
O&s =0 =& EX3A
100,000& * 300m 30,000
08 HS0E =2 FUlI3A
100,000& = 300m 30,000
O4d WENS E+2 HUISM
100,000& = 200m 20,000
O 8% ZA0E =2 ZUlSA
100,000& = 140m 14,000
O=3&d SXAN == FHISA
200,000& = 100m 20,000
023 SHE =2 FHISAM
160,000& = 150m 24,000
O03% 2UE == FHISA
100,000& = 200m 20,000
OdlE NS0 SHEISAM
400,000& = 35m 14,000
Ouls ZA0IES =2 FUISA
100,000& * 200m 20,000
otlE =30t HZZIISAM
20,000& = 250m 5,000
OX= MS0tS =2 EXSAM
100,000& = 200m 20,000
OdXls Z24ate| a2 FHIALY
100,000& = 200m 20,000
OANZB 2=el HHels s=2XZESAM
100,000& * 280m 28,000
OANE Rt 22X sZ2EHISA
100,000& = 200m 20,000
OANZ E30tS =2 FUISAM
100,000& = 250m 25,000
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O&XZ SSEOES =2 FHISA
100,000& = 200m 20,000
O&X X2 =22 ZISAM
100,000& * 150m 15,000
O&Z XS s2ZHSAM
100,000& * 200m 20,000
O&XZ 22X XZZIISA
20,000& = 500m 10,000
OZAN d2dcl s2EHISA
100,000& = 200m 20,000
OFA SN T s EZEHIA
100,000& = 400m 40,000
OZAN SEXF MHZZIISM
20,000& = 750m 15,000
ONMS ME0ES Y2 HELHFIA
100,000& * 240m 24,000
ONMS SoiltS s2HZESA
200,000& = 200m 40,000
O stat A0S 2 HUISA
100,000& * 180m 18,000
Ostat A0S s2EFSAM
100,000& * 180m 18,000
Ostat el s2EHSA
100,000& * 220m 22,000
Ostat AISOIE & SZ2EHESA
100,000& * 180m 18,000
o0 JIsite +2 HUISA
100,000& * 100m 10,000
Ol MEOIE s2EHZHSA
100,000& * 250m 25,000
OO0l M= sS2EHISA
100,000& * 200m 20,000
OO0l EA0IS B2HZ SZEISAM
100,000& * 90m 9,000
03 Al 2 THHI 5,040 3,780 1,260
OAALSIIBHEHIAIE R THHI
800,000,000& * 0.63% 5,040
sZ3X A 22/ALS 517,000 554,000 A 37,000
401 AIEHI L 20 517,000 554,000 A37,000
01 A& Bl 517,000 554,000 A 37,000
OgY &1-22] sti==2 S At
33,000,000& * 14 33,000
OXl= adel =2 S A
27,000,000& = 14 27,000
OZY S8l s2 At
15,000,000& * 14 15,000
O%Y HY =2HY2 HTZBA
15,000,000& * 14 15,000
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O3% ¢tkel s+=2 ZHISM

18,000,000& * 14 18,000
O3% 0td32 REE s2 ZTF3M

16,000,000& * 14 16,000
O=2% 2232 RHEE s2 ZFSAM

15,000,000& * 14 15,000
OgY 25el =H0IS E=+=2 FHISA

17,000,000& * 14 17,000
OgY 3l2cl sSL0tS E=2 SHSAM

25,000,000& =« 14 25,000
O3% 2222 s2 ZFSAM

10,000,000& * 14 10,000
Ouls & =2 FHISA

15,000,000& * 14 15,000
Ods 232 =2 ZFSA

12,000,000& * 14 12,000
OANS 8 s2 ZESA

20,000,000& =« 14 20,000
OEXE =20t2 =2 ZHSAM

18,000,000& * 14 18,000
OEXE =2Zs 52 ZHESAM

11,000,000& * 14 11,000
Ods Edcl 228 52 ZHIA

20,000,000& = 14 20,000
Ogd LS == FEISAM

20,000,000& = 14 20,000
OHZ&l 2el =2 SAt

25,000,000& * 14 25,000
Odls K312 =2 Ful

20,000,000& = 14 20,000
O&X g&el M==X & &Y =2 ZX S A

20,000,000& =« 14 20,000
Od= gds12l M=Xl & =2 SEXSA

10,000,000& * 14 10,000
OANE at==0t2 =2 ZZ3AM

20,000,000& = 14 20,000
Ogd =232l == FHI3A

20,000,000& = 14 20,000
Og& &Sel =2 HUlISA

20,000,000& = 14 20,000
ONMS dTel H2s =2 ZHESAM

10,000,000& * 14 10,000
Ostat 2402 & 2+2 FHISA

20,000,000& = 14 20,000
Otet MEOE B2 FUIBAM

20,000,000& = 14 20,000
OMS &4 =2 ZHISA

10,000,000& * 14 10,000
Otk a2l =2 A 15,000,000& * 14 15,000




SN QEALD
HE: sAEWA 23
Sl s B EA (B9 ®R)
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Ss3 X AEEHAMY 446,300 104,000 342,300
401 AlEHIZL 201 Y| 446,300 104,000 342,300
01 A& H| 446,300 104,000 342,300
OLHZ| =2 TR (020 HAH
100,000& * 400m 40,000
Onas ISHEHOIE s EZ(FOIEH A
100,000& = 200m 20,000
Odts 24| SR I X (0200 A
100,000& = 200m 20,000
Oats AtSel =2 A H| (=2 &0 0ol &)
100,000& * 130m 13,000
OasS RAEDIE s EZ(FOIEH A
100,000& * 200m 20,000
O23 ot¥0IE HaE L HAX (=00l at
) 500,000& = 30m 15,000
O3 NYSHS 48 FEY2 TH(FO
Z 04 ol AF) 65,000& = 20m 1,300
O23 N=0IES =220 E (=220 0l AH)
100,000& * 50m 5,000
O2H Y50t2 S22 0HE (F0IE0104)
100,000& * 70m 7,000
OZ2F FHAEOS 2L (FCEH A
100,000& = 200m 20,000
Ot 282 5253 o 842 E52 K
(Z=0IZ 00l &) 150,000& = 200m 30,000
OAlE ZA0IS Hi=2 AH| (=& 00 AH)
100,000 * 200m 20,000
OFE 2352 =2 HHY|I (=200l A)
250,000€ * 140m 35,000
OFE 9352 =2 HY|I (=200l A)
200,000 = 50m 10,000
O&x x| HHE2AH & S Z2AH(F0IE
Of Odl AF) 200,000& * 100m 20,000
OZ2A 4EH0IE =2 ZH(F0Z00 A
100,000 * 250m 25,000
ONXME dENS S22 EX(FSEHHU A
75,000 = 200m 15,000
OANSES PES0IE 42 MES (=S E Ol A
) 50,000& * 400m 20,000
OStar BAOIS ASSR28 T (F0IE 00 M)
100,000 * 200m 20,000
Ostat SES 22 HbI(F010101a)
100,000& = 200m 20,000
Q0 Satils =22 A X (=020 0l AH)
75,000& = 400m 30,000
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Oblgy 422 Eis=2 =22 X (=UE
Ol &) 60,000& * 250m 15,000
O0lY UXNZE s Z&(FUEO A
62,500& * 400m 25,000
oA EE RAE=> 1,713,948 785,107 928,841
= 449,000
Xl 256,000
< 119,000
[ia 889,948
S22 FXESAY 97,500 152,000 254,500
< 78,000
i 19,500
401 Al HIZ 201 8] 97,500 152,000 254,500
< 78,000
e 19,500
01 A& HI 96,622 152,000 A b55,378
O8=+2 2XSHAY 96,622,000& = 14 96,622
= 77,298
s 19,324
03 AIE 2 THHI 878 0 878
O8+2 FES3AY A2
97,500,000& * 0.9% 878
< 702
s 176
SaM=X dctSE3A 70,630 100,900 230,270
401 AIEHIZL 2CHEI 70,630 100,900 230,270
01 A& Hl 70,000 100,000 A 30,000
O&s 28HM dctRE3A
1,000,000& * 70& 70,000
03 Al 2 0HHI 630 900 A 270
SEM=X DctESAL S04
70,000,000& * 0.90% 630
elAld E3A 72,648 72,000 648
401 AIEHI L 2 CHEI 72,648 72,000 648
01 A& HI 72,000 72,000 0
O=xclAlE E==3At 7,200,000& » 1000 & 72,000
03 A& 2 THHI 648 0 648
O=xclAlE B3 A 20ibl
72,000,000& * 0.90% 648
Hegad |2 50,450 50,450 0
401 Al HI K 201 I 50,450 50,450 0
01 A& HI 50,000 50,000 0
Oolg2ad sXE2=+ 5,000,000 * 109H & 50,000
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03 AlE 2 THHI 450 450 0
OoHgzsd RANES 20
50,000,000& * 0.90% 450
M=K HE==AtS 82,000 58,000 24,000
< 41,000
s 41,000
401 Al HI K 201 I 82,000 58,000 24,000
< 41,000
s 41,000
01 A& HI 81,262 57,478 23,784
O=M=X EAY 81,262,000& * 14 81,262
< 40,631
[ia 40,631
03 A& =TI 738 522 216
OF=HM=X E==At AIZR0Hl
82,000,000& * 0.9% 738
< 369
s 369
H=X Mg &= A 30,000 50,000 220,000
401 A& HIZ 201 8] 30,000 50,000 220,000
01 A& HI 30,000 50,000 220,000
OXM=Xl Mg ESHAHAAMI
1,000,000& = 300H & 30,000
sHEUHE2AE =22 M 12,000 21,037 A 9,037
201 24l 12,000 21,037 A9,037
01 At 2t 2l 12,000 21,037 A9,037
Osgslead =Z A
120,000& * 100K 12,000
S22 WX XA 80,720 80,720 0
401 A& HIZ 201 bI 80,720 80,720 0
01 A& HI 80,000 80,000 0
OUEslIN sd & 8=z Fil
1,000,000& * 500H £ 50,000
O=2 WX &AIAYE  5,000,000& * 69 30,000
03 AlE =2 THHI 720 720 0
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